Dxbon Problews By Chup. §

wber [543, 210,756 for divisibility by
Give a briet reascn for e

O Test The wa%le nv
23, 4,5,6,89, 101!
(dom'E qust say “yes® or “NO")

2) Answer TRUE or EALSE . 1§ FALSE, Provid.e, a crunter-example .

@ Tf 12]a, Then 2l®

k) I+ 2|2 then %[ 3
) 16 5| La+b), Thew 5| 5|b

(&) If 5la and 5|b, then 5|ab

(e) If 4| and 8la, Tren 31‘“—

what Pr\'me'; need 1o be checked for

tne List is The same for both)

ushrate how ym‘ re deoing ‘Ihe,'TEST)

2 (@) In The TesT Fop PRIMENESS,
The nvmbetrs 259 and 2637 | (
(In (b) or (6), if yow sy SpriMe’ clearly il
(b) Is 254 PRIME or coMposiTE 7 W? |
(¢) Is 263 PRIME of coMPOSITE? “""”‘&7'

2 ) .
P Tf =253 23
and b= 2°-57. T 117023, , LEAVE \ dudr s weas as o
4ind GCF(a,b) and LCM (a,b) kpnm{-adowuchcms n exPMalform>

(s) Find &CF (4192, 96) vsin e EUCLIDEAN ALGORITHM |
( ) %
w ot

Shows all wori | | indi cate
(b) Using youd answet 1o (‘L)) find LCM (‘1!‘13—)5%) (—'férmula you're usn‘ma.)

iN ProBLeMS © AND @), CLEARLY sHOW How You &
IN YOUR SOLUTIONS ) | 4 ITHER USE €CFs oR LCMS

® A plane leaves frm Burbank aWPoH— for Sam Franciscn ot 8100 am

and every 42 minwtes Thereafter. A plare also leaves fom LAX for

Sam Frandsce ak 8100 am ond. every S minwtes Thereafder.

What s The firsthme after 8100 am thhat Sanm Francisco hound
plares leave Burbank and LAX sfmvl'\"anwsi\( 7.

) Mark has 90 blue, 120 8V‘-€M'\//Md 225 whte Mmarbies . He wantsto
Puj- all The marbies into bags, Puﬁﬁ‘ng the Same Nvidoer of blue i each
bag, The same nuwmber of areer tn each b ) Tre same nuwwber of white

: ch bag (each bag wll contarw all threed colors of marbies) .

What s The %}rea:i-cs‘b number of bags he conld use ¢ |

th ea




